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10.1 i&x=-—;--(1+,\/'é'), y=é(1-——ﬂ/§‘), R i

__[arc tg-(x+y)]2.
Z"[arc tg (x—y) | .
.. 1 - 1 —
B X=-= (1+a/3), y=5(1-473),
xty=1, Xx—y=,/3

Z =[_££Ektg_1__]z__ L ]
x:_‘&l‘-‘i(1+‘\/~3—) arc tg/\/3 __ __JE 16:1.

yn.g_u—;q)

10.2 EREHS (4, v) =0, RRf(xy,x+y).
B0 f(u,v)=u,
S fxy, x+y) =(xy)
10.3 EAHE N (u,v,0)=a+w " R, flaty,
X—y,xy). .
B %ty 5=y, xy)=(x+y)*? + (ay)r v rrm
=(X+y)* + (xy)*,
10,4 RIERBF (x,y)=Inx lnyBR¥E AR,
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Fxy,uw)=F{(x,u) +F(%,0)+F(y,8)+F(y,v).

iE  F(xy,uv)=1n(xy)In(uv)
=(lnx+1ny)(1nu+1nv)
=Inxinn-4inxinv+4 1ny1i1u+ lnylny
=F(x%,0)+F(x,v)+F(y, s)+F(y,v).
10.5 RIEEEL (xy) =xyP B # R
F(ax+by,cu+dv)
=ack (x,u)+bcF(y,u)+adF(x,v)+0dE(y,v).
W Fax+by, cu+dv)=(ax+by)(cu+dv) '
==acxt+ beyu+ adxv-+bdyv
=ack (x,u)+beF(y,u)+ adF(x,v)+bdF (y,v),
10.6 & F(x,y)=n/x"+y* —2xy, EBH,
F(tx, ty)='F(x,y),
i F(tx,xy)=n/ (#2)*+(1y)* —2(fx)(xy)
=1*(N %'+ y* —2xy)
="F(%,y).
10.7 HEEZ=f(x, y)temﬁaé%it
fQx,ty)=t"f(x, ) MK RF KRB, Rk K RFKRB L

Z=fx )t 2= F(-5-).

i F(te,ty) =15 (x,9), B F(x,9)= & f(tx.1).
=1, - fxy)=2tf(1,4),

A1 3 )=F(§) waZ=a"F(L).
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10,8 f(x,n)=5"~xy+y*, ik,
F(x+ B, ) —f (o, ) B f (20, y+ D) — F(%,y), ok 2 5]
2.1, yH2EHE1. 9, 5K fo Ax, ) —f (e, y) B S (%,y+ By)
—f(=,y) Z
B fx+Ax,y)—f(x,y)
=[ (x4 Ax)*— (x4 Ax)y Fy?]— (22— 2xy + y*)
= (2x—y4 Ax)Ax,
F(%,y+By)—f(x,y)=Ux52~x(y+4 Ay)+ (y+Ay)*]
~ X=Xy 4- 8 =2y —x+ Ay) Ay,
Hu=2, Ax=01, y=2, Ay=—0_ 18},

fx+Ax, yy—f(x,y) =(2%—y+ Ax)Ax =0, 21;
X=pe=7 x==yj=32
Ax=0.1 Ax=0.1

f(%, y+Ay)~f(x,y)
K=y =2

Ay=—8.1

==(2y—-x+Ay)Ayi =-—0,19,.
)

Ay=~—0.1
R10.9—10 21 & BB E IR, HEHE BER,
16.9 Z==x-.t-y.
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10.11 Z=1“*‘a§—"‘"‘b‘§“o

g —coa< oo, mooly< +oo, T

10.12 Z=lnxy.
R xy>0, R RE>0, ¥>0 (F—5R); R 2]

0, y<0 (EZHRIR) -

%10, 125 510,135

e =R~ ' + - ®
10,13 Z= et o

R EExt y>OBx—-y>0.
ey
10.14 Z_..\/ 1— =

2 y2
BRIy oy
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1035 Z=In(y’—4dx+8).
R EXEH Y424+ 8>0, HI y*>4x—8 (B il
e
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%10, 165
10,16 Z==arc sin-y--~.
X

x| Yl <1, miyi<ixma. 0k

Hh |
017 Z=o 5=Ty
R EXBArx=N yBHy=0.

AY y::xz |
P——— X
4]
w1017 5510, 1813
N o Ax—yt
10,18 Z= Ay

In(1—x2=y%) *



BOEN iy, 2+ yr<LEx 4+ yi+0.
x2+y2.

i + arc sec{x*+ y*).

10.19 Z==arc sin
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10,198 | | %510, 205
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10.20 Z=xy+Jln PR F A/ PR
| o
M Exiﬁ%mi'?lﬂxz+g"#0&x“+y2-R“>0,
s N
' _Rzgxz:__'_.yz\{R;’ N\ ,+”\
EHAEA o +y*=R, | M
Y cooT e .. ¢
10,21 Z=ln[xln(y—x)1]. >,«
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(2) z=xxsinyg
(3) z=ctgr(x+y)
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(1) BEXRBx>0, y>0, 220,
(2) °° xsiny>=0,
BOE MR K x>0 HL2ke<Sy<(2k+ 1),
WMA<K0H (2k+ VD a<u<<(2 e+2):r
(h=0, +1, +2, ).
(3) 0 alx+y)+he, |
FRYBMIgx+ysh, k=0, F1, +g,
() Rt 20 R +a b-rt>0,.
OEXIE T, Hr<{RE, ridx+yt +z*’<xﬁ‘
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K 10.23—10,30& BRI,
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10,24 lim
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10.26

T 1—cos(x*+y*)
izg (P
2sin2x2+yz

= %Lng (224 y*)x2y?

. 1—cos(x*+ y?)
i . _
;15103- (xz_l_ yz)xzyz

s (:c"-;yh)2 T Toxyt .,

siq’_xz_"z'yz
2

. Xty . 1/ 1 1

| =lim-(.% +_ 1
ﬂﬁ;;lg oyt },‘IZ,‘II{; ( y? + P )=+00,_
REE.
lim 2N xy+4 .
X0 XY
L ]
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10,28 lmn(l+.ac,y)"F

!uo

-1
B l1m(1+xy) XY =

I=0
7~0
L 1
A ,hnt:)l(l+xy) "-—11_’1101[(1+xy) "9] =g'=],
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10.28 lim (2L,
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lim In(x+¢e%)
lim 123 €") 5o |
r-1a/ P4y lima/ %24y

X—=1
y—-10
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10.31 GEB: Ux—>0, y>O0R, Ml u=- " KRR
AFE. () ABFERGRETF0,0)H, g8 lim u=3,

limy=2, limu=—2.

P {ﬂ ‘--&ymkxo =

lim g=lim— i Lk
i i ea—g i

RERAETIE, SRREEE.

%(o,y) B EL y=" 2 BTF (0,0) B, lin =3, %

(x, y)i“ﬁﬁé% quxiézf(o O)H lim; u=2, ZH(x,y)#

-

E‘E@Ey—%%i:(o O)B‘T limu-——-z
10,32 THIEH A (x,y) >(0; 0) B, WRE%‘#E?

1) JE9= H;j )

(2) f(x,y)= x‘+u‘ Ix

ﬁ (1) MBEBRKLy= 0 x—->0

lim f(x, y)=lim ", =o,
120 w0 3
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ﬁﬂ%‘:ﬁiiiﬁé%y=x, x>0,

.\‘.:4

Him f(x, y)=lim =1,
= ¥~ x

L0

T BB 4 AR A £k B 10, 0) B, lxi_{notf(x.y)*?lﬁ%, A
AR IR R IR ZE,

(2) &(x,y)EdYBet=Ry#T(0,0),

%lm (%, y)--lxlil: kz?zﬂ_,, =__%’

ﬁ{%ﬁﬁﬁ%kim B R R A F7E,
10,33 T T AR AL TR

o Uit ax
(1) Tyt 2x )
(2) z=lnjx—y|

3 (1) Y —2x=0, sy =2xtﬂﬂﬁi)&&m
B,
(2) x—y=0, EUE*%J—H:B@:E%E&WEJ%@
10.34 JEH @B z=x*+y B2V HESR,
i % (%, Yo) B %oy F & K 1T H— A, A (%, y)->
(%,,4,), itx=x+Ax, y=y,+Ay, Ax-ao, Ay->0,
1f(x,9)—f(%, 06} . -
-—l(xa+M)2+(yg+A9)”—(x‘+yz)|
= | (2%,+ Ax) Ax+ (2y,+ Ay) Ay]
< | 2%+ Ax| | Ax|+ | 2y, + Ay | | Ay| >0,
Eik, z=x*+y' 78 & Fmds:, |
16,35 &f(x,y) K -DH--4 P(e,b) BiE#N, H
T(a.by>0, W HAEE P =4 583%, BF(%,y)>0.
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W R f(x,y)EPES:, MiEHe>0, BEAPH—
B, BEEZAEN -
| f(x,y)—f(a,b)| <e,
B f(a,b)—e<lf(x,9)<f(a,b)+e,
%l%]f(a:b)>0, HREHle f(a’b)’ 'E"Zitﬁf(x,y)>0, A,
HAEAPH—A 83, Bf(%,9)>0. ‘

— B B ¥ #

10.38 EW. HAOWRSREE U, F(xb)
=‘_g—x'_f(xob)._ |
THE HE X,

Ribymtin FEHARD=f(8) _ d )

10.31 Bf(p)=xty—o/at+yty RE(3,4).

/ —
R f(xy) 1 ,Jx+y“’
' 1(3.4)= -3 _2

N34 5

10,38 iﬁz=1n(x+-2-%“), *,az

a_y T
Ty mQ
1
0z 2%
2x



